ON t.6 - LI

A p1s BROD B R

€ HtEHIORE - REFIORE
HElF 2007, R y=2
6

RIEBITB b D7, Reey=--
@ Lef) - REFHORDRDS

(1)y=—3z = =
@y="2 EEmEmLEi
On i EEREECEEEE
(1)A(2, 4) 620 [ 2[4 6"
B(—5, 3) FIuENGERASEE
@ DR NN
—6 1
O wHns57 o
(1y=—2zx SN
(2O R i
O REEDIST s
a1 1 —of 1 |
3 A R O S S
|1 \_.n

o hrEE |

Ot X y=ax(a THFIEE)
T 7 IR Rl S T

[ J-dinlll wn...eﬂiaﬁ:u@_ EEL)
75 7 B

K -2 [ENE

= (1) y= IW&. y D y=4

% y=— 3 oyt

D NyrxihtFITors, REy=ar b BE,

@=3, y=—2#RATBL,
—2=gX3 k0, nnlml
y=—2z1za=—6 FRALT,
QHIWX.T@M

2)y B CRIEBT 05, K% uuw LBE,
x=—3, y=12%xRATBE,

_mnh XV, a=-36

@u\%?a 6 RALT, y=— wm =il

A 100y=3z @12m
(2XD 90L @eII ®9L
€D WWyBar s L E260505, X%

y=ax LB E, WISz &y DfE z=18,
y=2%KAT5 L,

2=axX18 &1, QHW
@eHW& iZ, =108 #RRALT, muwvaomns
(2)D 5x18=90(L)

@ xy=90 %1, Q[E
@y=2 iz y=10 #RALT, 10=2, 2=9
B ug 3 v
ANVE"MR f:ﬁf,; i .thT I I
4 S
3)y= S
3y w.e Iml\_lms,/m., x
=5 M2 N \ -
?:.&la. 1 I“»
(GO ~61-

CD 2 y=ar IZHEP OEEDEr=4, y=3%2KA
LTaDfizRkdb,
(377 71%, MG, HEFE->TV5S,

E@nwﬁm. 75 7h5E5 M4, 2) OEEEOfE
RALT, mumz. a=

(BIELAE, A6, —4) % EATEME O <o
L(—6 4)%(3 —-2LETL LW,

@ 1o=s=8 = =
ANVE"N&. Wc s.:ﬂ BIEE
(3)6 cm e
WO EEERrEREE
M_‘\
0 ,* 3 %E PR

L) (VA PATEEBILH S E &Ex=0, APHH
HMCIZHb L &x =8
1

(2 D%vS_a%JM .QIIN.XHXA =2x
BP- L AB

Bly=2xly=12%{KALT, 12=2x, x=6
) y=2x 375 7 THBRZN, 5£2)FH
LIADEZAEEBTHLD, @MEHLDEL,

NGaE:
H@bMMM@E%Q \_

@ 1 xEHOR

F,. " L
€) 1 REBROENOBE
D) y=1 (2)9

(3)3 b
@2(1)—2 (2)—8 T
€ 1xE80s57
E_ﬁ%.:w —6 42

)] .
(20X 1T
O 1 REBOROFKDS
(1) y=3x—2 @@lelalm (3y=x—1

O rEXLI57
(My=3 (2 z=2, y=1

X IrEE | 1

® 1 KD y=azx+bla, blIIEEH)
@1 KMHE y=ax+b DT T 7
~fEZ a, Y1 b OER

3 _ y OEmME
OE(LDEE=" Fmm=

@ 1 K y=ax+b TIIELOESIE—ET,
a DEIZE L,

i - ERET S

3 vy=7 20=y=5 (39-5

S

g

)

N
~ | e\

|t ) [P
=2

@D ()y=—Ju+31ia=—8 AT .

2x=—4DL X y=5 x=6D& Z y=0

(B y=—ga+3 T, o B THMTHL

y -SRI A5, o AIOHIT Bk,

yiE=3X10=—5 I 2.

n EQHW&IN (2)y=2x—3

(3)y=8x—20

CPE) 2y=200r 7713, HE2, YR 0DEM.
Fwaitid, WE 2, YK -3 0EHON,

El Vy=4z+20 (2255%

CPE) VESALTOWMZ 05, BlhoBEE—%
T4, I/, 2=0D& & y=20
(2) y=42+20 12 y=120 E AL T,
120=4x+20 £ b, x=25(51%)

=t
B y=—Zsts
Amveﬂttwra+# : ¢ ¥
ENEEACENNNEE
BEOR JEEREY
2=t . NA
% 2) WA,
-5 o A N5 |
| / N |
./'
\
/st H
@D x5 T, WL
(2) B &5 OA O i Z b EMONZRD L.

5 OA O ORI, 75 T7H5, @' OV

(3R 4 —3y=9% y= |H JEERTLE,
_ﬂw:wl. -3 DEMTH 5D

75710, ZHOEEIIERIIELRVWDT,
4
=——x+4
i ﬁmie 37T pmnTRD B,
4x—3y=9

B ka1
EhOAEETOEDY -9
(2)F5#12km (3)6 km

CBE) (DR, BECEON R LTI T %
ALk, EREERERFR T2 TED ) 33
ARVOT, TZ73ERICFETICRS,

75 7 AR AT Aok, HEMELT2L

3070 B 5405 % F TOL0GET, A5 9km
DRI

(2R Wy A —3F TO3km 21557 TE-

s DY
TWwWHNOT, &= W L0, EpHE

.15
w4wm|§_§v
(3)HF#24km 12105 C4km E B, D75 7 %

5 (km)
E AR, e TR JAEE
F57he 0 e
i e /4 I .
BALBE A .
L, 2 p =

|.\\ S

P o 2
=525 30 40 50 600




